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Linear Types
You only use once!
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λ x. a x

once

λ x. x ✔ λ x. (x, x) ✘

λ x. ( ) ✘λ f. λ x. λ y. f (x, y) ✔

λ f. λ x. f x ✔ λ y. λ x. y ✘



can’t pay with

money twice

can’t never  
pay debt



e : 𝛕 weaken 
e : 𝛕𝚪

𝚪, x : 𝛔 

e : 𝛕 contract 
e : 𝛕

𝚪, x : 𝛔 
𝚪, x : 𝛔, x : 𝛔 



e : 𝛕 exchange
e : 𝛕𝚪, x : 𝛔, y :  ρ𝚪, x : 𝛔, y :  ρ𝚪, x : 𝛔, y :  ρ

𝚪, y : , x : 𝛔 ρ



𝚪 e : 𝛕

to use
where used

linear type

x : 𝛕 : 



:     

:      →
:     



Types: →

+

×
&

1

       ⊗ multiplicative product,

tensor

& additive product,

with

⊕ additive sum,

plus

    ⊸ lollipop, lolli,

linear implication

1 multiplicative unit

⊤ additive unit



λ x. e : 𝛕⊸𝛔?
?

I ?⊸



λ x. e : 𝛕⊸𝛔 I ⊸
e : 𝛔

𝚪
𝚪, x : 𝛕 



x : 𝛕?
?

hyp ?



x : 𝛕 hyp ?
𝚪, x : 𝛕

gotta use! 



λ x. λ y. x : 𝛕⊸𝛔⊸𝛕

λ y. x : 𝛔⊸𝛕x : 𝛕
I ⊸

x : 𝛕x : 𝛕, y : 𝛔
I ⊸

hyp ?

gotta use! 

nonlinear 



x : 𝛕 hyp x : 𝛕



e1 e2 : 𝛔?
?

E ?⊸



e1 e2 : 𝛔
E ?⊸

𝚪
e1 : 𝛕⊸𝛔𝚪 e2 : 𝛕𝚪

reuse! 



e1 e2 : 𝛔
E⊸

𝚪, 𝚫
e1 : 𝛕⊸𝛔𝚪 e2 : 𝛕𝚫



(e1, e2) : 𝛕 𝛔⊗
I⊗

𝚪, 𝚫
e1 : 𝛕𝚪 e2 : 𝛔𝚫

case e1 ( (x, y)  e2) : 𝝆⇒
E⊗

𝚪, 𝚫

e1 : 𝛕 𝛔⊗𝚪 e2 : 𝝆𝚫, x:𝛕, y:𝛔



fst e : 𝛕 &E1 ?
e : 𝛕&𝛔

𝚪
𝚪 

e1, e2  : 𝛕&𝛔(| |)
&I ? 

e1 : 𝛕
𝚪, 𝚫
𝚪 e2 : 𝛔𝚫 

where?



λ x. λ y. xnonlinear 

λ x. λ y. fst x, y(| |)linear ? ✘



fst e : 𝛕 &E1 
e : 𝛕&𝛔

𝚪
𝚪 

e1, e2  : 𝛕&𝛔(| |)
&I 

e1 : 𝛕
𝚪

𝚪 e2 : 𝛔𝚪
same 



$1

$1

 : 



e :                     ⊸ ⊗ ?

e :         &⊸ ?



e :                     ⊸ ⊗

$1 $2

?

no! 
✘



λ x. buyC, buyK  :         &(| |) ⊸

x : buyC :   x : buyK :   
&I  

buyC, buyK  :    &(| |)x :
I  ⊸



A  B : “both A and B simultaneously” ⊗

A & B : “your choice of either A or B”

A  B : “turns A into B with no leftover”⊸



L•e : 𝛕 𝛔⊕
I1 ⊕

e : 𝛕
𝚪

𝚪 

case e (L•x e1 | R•x e1) : 𝝆⇒ ⇒
E ⊕

e : 𝛕 𝛔⊕𝚪 
e2 : 𝝆𝚫, x : 𝛔 

𝚪, 𝚫

e1 : 𝝆𝚫, x : 𝛕 



A  B : “both A and B simultaneously” ⊗

A & B : “your choice of either A or B”

A  B : “turns A into B with no leftover”⊸

A  B : “either A or B, NOT your choice”⊕



L•e : 𝛕 𝛔⊕
I1 ⊕

e : 𝛕
𝚪

𝚪 

fst e : 𝛕 &E1 
e : 𝛕&𝛔

𝚪
𝚪 



case e (L•x e1 | R•x e1) : 𝝆⇒ ⇒
E ⊕

e : 𝛕 𝛔⊕𝚪 
e2 : 𝝆𝚫, x : 𝛔 

𝚪, 𝚫

e1 : 𝝆𝚫, x : 𝛕 

e1, e2  : 𝛕&𝛔(| |)
&I 

e1 : 𝛕
𝚪

𝚪 e2 : 𝛔𝚪 



e1 e2 : 𝛔
E⊸

𝚪, 𝚫
e1 : 𝛕⊸𝛔𝚪 e2 : 𝛕𝚫

(e1, e2) : 𝛕 𝛔⊗
I⊗

𝚪, 𝚫
e1 : 𝛕𝚪 e2 : 𝛔𝚫



λ x. e : 𝛕⊸𝛔 I ⊸
e : 𝛔

𝚪
𝚪, x : 𝛕 

case e1 ( (x, y)  e2) : 𝝆⇒
E⊗

𝚪, 𝚫

e1 : 𝛕 𝛔⊗𝚪 e2 : 𝝆𝚫, x:𝛕, y:𝛔



(e1, e2) : 𝛕 𝛔⊗
I⊗

𝚪, 𝚫
e1 : 𝛕𝚪 e2 : 𝛔𝚫

( ) : 1
1I

⋅



case e1 ( (x, y)  e2) : 𝝆⇒
E⊗

𝚪, 𝚫

e1 : 𝛕 𝛔⊗𝚪 e2 : 𝝆𝚫, x:𝛕, y:𝛔

case e1 ( ( )  e2) : 𝝆⇒
1E

𝚪, 𝚫

e1 : 1𝚪 e2 : 𝝆𝚫



e1, e2  : 𝛕&𝛔(| |)
&I 

e1 : 𝛕
𝚪

𝚪 e2 : 𝛔𝚪

 : (| |) ⊤
1I 

𝚪



fst e : 𝛕 &E1 
e : 𝛕&𝛔

𝚪
𝚪 

none



A  B : “both A and B simultaneously” ⊗
A & B : “your choice of either A or B”

A  B : “turns A into B with no leftover”⊸

A  B : “either A or B, NOT your choice”⊕
1 : “object of no information”

 : “permanent garbage pit”⊤
!A : “any amount of A”



𝚪 e : 𝛕;Δ

x : 𝛕 hyp1 ; x : 𝛕Δ

x : 𝛕 hyp2 , x : 𝛕; Δ ⋅



(e1, e2) : 𝛕 𝛔⊗
I⊗

; 𝚪, 𝚫Ω
e1 : 𝛕;𝚪Ω e2 : 𝛔;𝚫Ω



e : !𝛕
!I

; Δ ⋅
e : 𝛕; Δ ⋅

e : 𝛕
!shift

; , x : !𝛔 Δ Γ
e : 𝛕, x : 𝛔; Δ Γ



fix x.e  [fix x.e/x]e↦
fix x. f x  f (fix x. f x)↦

f f (fix x. f x)
f f f (fix x. f x)



fix x. e : 𝛕
rec

; Δ ⋅
e : 𝛕, x : 𝛕; Δ ⋅



fold e : μα . τ
Iμ

; Δ Γ
e : [μα . τ/α]τ; Δ Γ

unfold e : [μα . τ/α]τ
Eμ

; Δ Γ
e : μα . τ; Δ Γ



flip : bits  bits 

flip =  fix f.  b. case unfold b (

  b0 y  fold (b1 f y)

| b1 y  fold (b0 f y)

| e y  fold (e y)


)

⊸
λ

⋅ ⇒ ⋅
⋅ ⇒ ⋅

⋅ ⇒ ⋅



P, Q ::= x  y | x  P; Q 

| x.l; P | x.r; P

| case x {l  P | r  Q}

| close x | wait x; P 
| send x y; P 

| x  recv y; P

← ←

⇒ ⇒

←



𝚪 P :: (x : 𝛕) 

to use
where used linear type

provided channelP x

a

b

c
𝚪



1. channels aren’t ignored
2. channels are contained
3. dualities ~ client/server
4. progress = no deadlocks



x y :: (x : 𝛕)←
id 

y : 𝛕

x P; Q :: (y : 𝛕)←
cut 

, Γ Δ

P :: (x : )σΓ Q :: (y : 𝛕), x :  Δ σ



case x (l P | r Q) :: (y:𝝆)⇒ ⇒
L ⊕

Q :: (y:𝝆)𝚪, x : 𝛔 

𝚪, x : 𝛕 𝛔 ⊕

P :: (y:𝝆)𝚪, x : 𝛕 

x.r; P :: (x : 𝛕 𝛔)⊕
R2 ⊕

𝚪
𝚪 P :: (x : 𝛔)



x.r; P :: (y : 𝝆)
&L2 

𝚪, x : 𝛕&𝛔 
P :: (y : 𝝆)𝚪, x : 𝛔 

case x (l P | r Q) :: (x : 𝛕&𝛔)⇒ ⇒
&R 

Q :: (x:𝛔)𝚪 

𝚪 

P :: (x:𝛕)𝚪 



send x y; P :: (z : 𝝆)
L ⊸

P :: (z : 𝝆)𝚪, x : 𝛔 

𝚪, x : 𝛕 𝛔, y : 𝛕 ⊸

x recv y; P :: (y : 𝛕 𝛔)← ⊸

P :: (y : 𝛔)𝚪, x : 𝛕 

𝚪 
R ⊸



y recv x; P :: (z : )← ρ

P :: (z : )ρ𝚪, x : , y : 𝛕σ

𝚪, x :  τ ⊗ σ
L ⊗

send x y; P :: (x : )τ ⊗ σ
R ⊗

P :: (x : )σ𝚪 

𝚪, y : 𝛕 



wait x; P :: (y : )τ

P :: (y : )τ𝚪

𝚪, x : 1 
1L 

close x :: (x : 1)
1R 

⋅



A  B : “sends A, continues as B”⊗
A & B : “offers a choice of either A or B”

A  B : “receives A, continues as B”⊸

A  B : “is one of A or B”⊕
1 : “a finished channel”



resources and obligations
money debts

channel access channel handling
no cloning no deleting

≤ 1 ≥ 1


